1 % I (B FISERRE 2 TR 2 TH 1 4% 68, 000 1 % I (B FISERRE ~ J:0T ARG TAIm 3 4 8 53, 00014
-1 10 A 0.4 9% -2 %5 A 2.9 %
227t 1651t
E i X tH
3B
&
+H
BR
i
=4
i
=
H
BR
L T
Wx It 650m TRk & 600m
i 2 () FIRERRIE 2 HUT G~ 4 TH 4% 62, 6001 i 2 () FIIERIE 2 0T AR 1 TE 6% 39, 8001
-3 145 A29% — 4 4 A 1.8 %
1981t 1691t
ll_‘zssg ;M\;JR/ // ] /
IRy f‘“ﬁ EoH{ES
I—F—
WO H C
o] 3
g FL M MG E
m Q
R
cha R o
W% 750m Mg 2. Tkm
% F (B FIRERRIE 2 HITR 7B 3 5 4% 10, 5009
10-1 A5.49%
1,682t
; ¥
(]
¥
B
&h
|
18
iM% I 2. 5km




Flig (&) FIigECEN g A EEFRAE 3 TH 5% 39, 400 Fljg () %b’ﬁrﬁﬁub’%ﬁ% HTEAXHB1705 10, 70011
-1 6

A1.0% 10 -1 A 2.7 %

185m 1,147t

E+T
H nikiit

FCRRAE ~ FE

Flig (&) FITERRENERT I L T#F] 7 8 3% 2 11, 6001
10-2 o A 3.3%
978t




ARAE (1) FIEERAMAT R TN 2 8 13 244 14, 600[1
10-1 A 3.9 %
1, 65917

1+ ER

N

A

S bt
'F[

HE 2k TF

R

bl o A A

&
\%

ST-—HAVEAT

IR 2. 1km

s (I EB R AR TR B AN 2 4 4 12, 10011
10 - 2 2 A 3.2 %
1, 408nf
AR AL E
3
Tt -
[T Ha U
@i
EEENEE - ENRE i
CEL —
REE AP
JINBK 3. 3km




2. 5km

o
.

5 (B FIFEELRITZRTHF 2 3 8 0% 9 44, 500/ 25 (B FIFERRRITZ B TRA13 6 7 8% 2 35, 5001
-1 1 A 3.9 9% ~ 2 2 A33%
222m¢ 207 i
=H
| | T EHE IS g
= = gﬁ
' f&:ﬁt}'iﬂ‘—
xE #= #:BR
2R 900m R 1. 2km
o (&) Elﬁjﬁﬁﬂ}:&w?ﬁﬁ 2TH23%13 51, 000 5 (U Eﬂrbﬁﬁﬁ‘q}w%ﬁé 2TH26%F19 74, 000
-3 ZfEh2—23—13] A 109% -1 mg‘éﬁiizgggf“ﬂ A 13 %
171t 172nt
E
3
A
o
a1
a
%
=
e
t+
T 1km 72 800m
5 () FIfERRRIT U S 7k 6 6 3% 9, 9001
10-1 A 3.9 %
1, 25208



